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: This paper contains Seventy five (75) multiplechoice, assertion/reasoning/

matching questions. Each question carrying TWO (2) marks. Attempt All

the questions.
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“If all the mankind minus one, and

only one person were of the contrary
opinion, mankind would be no more
justified in silencing that one
person, than he, if he had the
power, would be justified in
silencing mankind.” Who among the
following made this statement ?

(A) M. K Gandhi

(B) Martin Luther King
(C) John Rawls

(D) J.8. Mill

Which one of the following is not
correctly matched ?

(A) Positivism - Leo Strauss

(B) Postmodernism — Jacques
Derrida

(C) Feminism — Simone de
Beauvoire

(D} Poststructuralism — Michel

Foucault
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Which one of the following is not

argued for by John Rawls ?

(A) The idea of a reflective
equilibrium

(B) The idea of an overlapping

COnsensus
(C) The idea of a negative state
(D) The idea of a veil of ignorance

Who authored the book Reading

Capital ?

(A) Louis Althusser
(B) Jacques Ranciere
(C) Antonio Gramsci

(D} Robert Nozick
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Consider the following statements

of Karl Marx :

(i) The Dictatorship of the
Proletariat shall be as
repressive and ruthless as the
capitalist system

(ii) The Dictatorship of the
Proletariat shall aim at the

abolition of all the classes

(iii)) During the period of the
Dictatorship of the Proletariat
the majority shall resort to the
oppression of the former

exploiters

(iv) The period of the Dictatorship
of the Proletariat shall follow

the abolition of the state
Of the above statements :
(A) (2) and (3) are correct
(B) (2), (3) and (4) are correct
(C) (1), (2) and (3) are correct

(D) (1) and (2) are correct
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Which one of the following is not
advocated by the theory of

communitarianism ?

(A) The individual is not an

independent entity

(B) Rights do not exist prior to the

state

(C) Duties and obligations of the
citizens are more important

than rights

(D) The person is an

unencumbered self

Who among the following advocated

a partyless democracy ?
(A) M. N. Roy

(B) Krishna Menon
(C) M.R. Masani

(D) C. Rajagopalachari
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Which one of the following has been

wrongly listed as a work authored

by B.R. Ambedkar ?

(A) A{mihilation of Caste

(B) Gulamgiri

(C) Buddha and his Dharma

(D) Evolution of Provincial

Finances in British India

“Means are after all everything. As
the means, so the end; there is no
wall of separation between means

and end.”

The above statement is

characteristic of :
(A) MK Gandhi
(B) Karl Marx

(C) B.R. Ambedkar

(D) Adolf Hitler
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10.

11,

In Hegel’s notion the highest
possible achievement of mind as
expressed in social life was in :

(A) Contemporary Great Britain
(B) Athens

(C) The contemporary Prussian
state

(D) Rome

Match List I with List IT and select
the correct answer from the codes
given below :
List 1 List II
(@ On Liberty (1) Robert Nozick
(6) Lecturesonthe (2) T.H. Green
Principles of Poli-
tical obligation
() Anarchy State (3) Jacques Ranciere
Utopia
{d) The Ignorant (4) J.S. Mill
Schoolmaster
Codes :
@ & © @
@ @O @ & @
B4 O @ (@
C@ @ O @

M @ 3 @O @
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12. Given below are two statements, one
labelled Assertion (A} and the other
as Reason (R) :

Assertion (A) : Aristotle 18
justifiably called

the father of

Political Science

Reason (R) : His distinction
of the polis
from the oikos
was essentially
disciplining

Codes :

(A) Both (A) and (R) are true, and

(R) is the correct explanation

of (A)

(B} Both (A) and (R) are true, but
(R) is not the correct

explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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13. Match List I with List II and select

the correct answer from the codes

given below :

List

|

{@ Perpetual peace

() Golden mean

(¢} Analogy of the

cave

{d) Fortune as a

woman

Codes

(a)

(A) @

(B) (2)

€ 2

D) 2
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(b)

3

(4)

(3)

(3)

(c)

(2

1)

(1)

4)

List II

(1) Plato

(2) Kant

(3) Aristotle

(4) Machiavelli

(d)

(1)

3)

“4)

(1)
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14. From whom did Hobbes borrow the 14,

principle of resolutive composite ?
(A) Aristotle

(B) Galileo

(C) Descartes

(D) Euclid

15. Who among the following said that  15.

political theory contains factors of
three kinds—the factual, the causal

and the valuational ?
(A) Leo Strauss

(B) G.H. Sabine

(C) William Ebenstein

(D) E.H. Carr

16. Who said, “Functionalism can 16.

indeed be interpreted as a conscious

alternative to Marxism” ?

(A) W.G. Runciman
(B) Robert K. Merton
(C) Oran Young

(D) David Easton
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17. Who among the following stated that
a developing society in order to
reach the goals of development
would have to pass through the
stages of political unification,
industrialization, national welfare
and abundance ?

{(A) Rostow

(B) Organski

(C) Lucien Pye

(D} David Apter

18. Which of the following pair is not

correctly matched ?
(A) Lucien Pye : Modernisation
theory

(B) Wallerstein : World system

theory
(C) Skocepol : New Institu-
tionalism
(D) Deutsch : Communications
theory
Pol. Sci.—I1I
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19.

20.

21.

Which of the following is the Indian
contribution te parliamentary

procedures ?

(A) Adjournment motion

{B) Zero hour motion

(C} Cut motion
(D)} Guillotine

Unequal exchange is the

formulation of :

(A) Samir Amin

(B) Amartya Sen

(C) Paul Sweezy

(D) Andre Gunder Frank

Duverger's classification of the party
system is derived from the

experience of political parties in :

(A) Western Europe

(B} All the democracies of the

world

(C) Party system in the developing

world

(D) Political party system in the

communist world
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22,

23.

Which one of the following pairs is

not correctly matched ?

(A) Pareto The concept of
residues
(B) Michels : The concept of
mass mind
(C) Mills The concept of
‘ political formula
(D) Gasset The theory of the

masses

The concept of ‘civic culture’

developed out of a survey of :

(A) Mexico, India, Pakistan, USA,

UK

(B) USA, UK, Mexico, Germany,

Italy

(C) USA, UK, Australia, Pakistan,

India

(D) Australia, Canada, USA, UK,

France

Pol. Sci. 111

14

22.

23.

2 U4 Rseunidl syl Qseu sRg B?
(A) wia 0 se s sy

(B) (i gl sl iS5 HIY

YIS

(C) (e 4 sAe  wils
wiladlse sida

D) suAe dl oflu?l »iis

Wy

A Ve s syt 2aiimi aday
Adaanl ‘RS seuy’ 0 Reyanl
fAsmaani sudl edl?

(A) 4Busl, Slhsu,

Yo, Y3,

i3,

(B) g.%u.u., 4.3, ARus), onld,
Sedl

©) d.@uu., 3.5, s,
Wi, S-Slu

D) g, 3Ast, 309, 4.3,
1



24. Which of the following statements

are correct about the President of

America ?

(@)

®)

(c)

(d)

He is the head of the state and

also the head of the government
All executive powers are vested
in him

He is bound by the advice of

his cabinet

He has the power to dissolve

the legislature

Select the correct code from the

following :

(A) (a) and {(¢)

(B) b), (©) and (d)

Q) (@), (c) and (d)

(D) {(a) and (b)
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25. Notion of uneven development was

26.

a response to the 19th century idea

of :

(A)

(B)

(C)

(D)

Capitalism

Positivism

Anarchism

Individualism

What is ‘Cultural Dualism’ ?

(A)

(B)

The existence of two religious

cultures

Newly emerging nations have

two languapges

(C) A small elite is modernised

40)

while the vast majority
remains in rigid ascriptive

patterns of tradition

Separation of the nationa) from

the secular
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27.

28.

29.

«©

Who has called India a “Democratic

Development State” ?
(A) Paul Brass

(B} James Manor

(C) Christophe Jaffrelot
(D} Atul Kohli

Which of the following is an anomic

pressure group !
(A) All India Medical Council

(B) Shetkari Sanghatana

{C) Tenants Association of Greater

Mumbai

(D) A Gherao of District Magistrate

by tribal peasants

According to Almond which is
not a condition for political

development ?

(A) Availability of resources

(B) Adequate

challenges

response to

Overlapping of stages of

development
(D) Congruent development of the

other social systems
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30. Who among the following elite
theorists said, “A man is effective
in society as a whole, not so much
because of his individual qualities
as because of the social energies
which have been deposited in him

by the mass” ?
(A) Pareto

(B) Gasset

(C) Michels
(D) Mosca

31. Which non-member can remain

present during the business of

either House of the Indian

Parliament ?

(A) The Vice President

(B) The Splicitor General

(C) The Attorney General

(D) The Chief Justice of India
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32. Match List I and List II and select

the correct answer using the codes

given below :

List I

List I

() Sardar Vallabhbhai (1) External Affairs

Patel

by  Byed Fazi Ali

(7 K Santhanam

{d) Sardar Swaran Singh (4)

Codes :

(a)
(A) (2
B) @)
) (2
M) @
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Deputy Prime
Minister
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Commission
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(1)
(1)
(4)
(1)
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33.

34.

Who among the following has
described India as a “weak-strong

state” ?

(A) Lloyd and Susanne Rudolph
{B) .Gunnar Myrdal

(C) Rajni Kothari

(D) K.C. Wheare

Which of the following is not within
the jurisdiction of the State High

Courts ?

(A) It can hear appeals from lower

courts

{B)

It can issue writs for restoring

Fundamental Rights

(C) It can decide the river water

dispute between two states

(D} It exercises superintendence

and control over courts

below it
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A2 Wl s Qg eda “dls—giat

we dily addey 87

(A) difs A YInt 38ies
(B) 9z Hlasia

(€) -l sisil

D) 3.l <dluz

A U1 sl [Qsey 2oy Gt velddinl

A8 ~e]?

(A) ludl xeidai-ll »idlen Riell o
£
(B) “ueid ARSIRAAL yeigud 112

LBl M s Wk

(C) o UL d2A-AL AElwlinL %o [Reus

Qa1 [Rsly s a &

(D) At diett ssn-l ludl »ieladl
Buz (o121l 2t g vl wb

&



35.

36.

Which of the following was the first
all Indian women’s organization

which came into force in 1926 ?
(A) All India Women’s Conference

(B) National Council for Women in

India

(C) Natural Federation of Indian

Women in India

(D) Self-Employed  Women’s

Association

Who is the author of the book India
after Gandhi : The History of the

World’s Largest Democracy ?
{A) Gopal Krishna Gandhi
(B) Achin Vanaik

(C) Tushar Gandhi

(D) Ramchandra Guha
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35.

36.

13 s M wEdaHi 20dd 1A W4 sy

ozl Al wWos NuH wd?
(A) »id Seolur [y sis-d
(B) e 513 g1z (@3 O Sesluy

(C) A 3s3uq viis SSlu [Q3

O S-slul
(D) Acs—WEius [ AR

‘Selal vigez oldl : Ul (B s dl

Qe e SHIBA AL Aus sl 7
(A) olwa (e oel

(B) 2l [@-uas

(C) gz Al

(D) 3LHAS Al
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37.

38.

39.

On December 11, 1946, the

Constituent Assembly elected who
as its permanent chairman ?

(A) MK. Gandhi

{B) Rajendra Prasad
(C) Jawaharlal Nehru
(D) B.R. Ambedkar

The ecological approach in the study
of Public Administration was
initiated (in the order) by :

(A) J.M. Gaus and R.A. Dah|

(B) F.W. Riggs and R.A. Dahl
(C) R.A. Dahl and F.W. Riggs
(D F.W. Riggs and J M. Gaus

the
administrative

Arrange following
thinkers

chronological order of propounding

in

of their ideas :
1)
(2)
(3)
(4)
(5)
(A)
(B)
(C)
(D)

Chester Bernard
M.P. Follett
Robert Dahl

F.W. Riggs
Willoughby

(2), (5), (3), (4), (1)
(2), (5), (1), (3), (4)
(&), (1), (2), (4), (3)
(5), (2}, (1), (3), (4)
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37.

38.

39.

Slamtz 19, 1y s -t 1Y SUIAUe 5]
Ala U4l s sl weae adly ew?
(A) .5, 2l
(B)
(C) %dlszdld ey
(D) Hll.wiz. Aisss

Az ddlaen] seutrdl wuiqzula
sl (sMa1z) i w3 syl?

(A) %.¥H. A 2 2.9, Seid
(B) 215.561ey, Y100 e 2413 .50, Seld
(C) Uz .21 Suld i 5. seiey. Y19y
(D) &.5016y. o AN % WH. olu
AL adladl Ridasia anurgsuui
oflsdl :

(1) A oz s
(2) . siae
(3) e seid
(4) »5.501¢y. 1oy
(Aol

(2), (5), (3), (4), (1)

St

(2), (5}, (1), (3), (4)

(5

e’

, (1), (2), (4), (3)
(5), (2}, (1), (3), (4)



40. Given below are two statements, one

labelled Assertion {A) and the other

as Reason (R) :

. Assertion (A) : Notwithstanding
the introduction of Provincial
Autonomy, the Government of India
Act, 1935 retained control of the
Central Government over the

provinces in certain spheres.

Reason (R) : The Governor was

required to act in his own
discretion in certain matters for
which he was to act without
ministerial advice and also under
the control and direction of Council

of Ministers.
Select the correct code :

(A) Both (A) and (R} are true and

(R) is correct explanation of (A)

(B) DBoth (A) and (R) are true, but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) 1s true
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40. il R4 (A) A df (R) »uid © :

Qs (A) : 33w AL wildy addi
S50 19cl g M 51E Wildd wasL v

s Al »iga adl val edi.

df (R) : 2eraedl, Nase el
L e 2igan 2in FEardl v ouotdlx

@asdl Gudsl s34t BOA.

WAL SIS wdE 53¢

(A) 64 (A) 2 (R) 2L 8 24 (R)

(A) L adl unogla 2 e

(B) oint (A) 2t (R) At & g (R)

(A) -l =l axgla »uug -l

(€) (A) W & v (R) g &

(D) (A) Wi & 27t (R) A3

[P.T.O.]



41.

42.

43.

The American concept of civil

service neutrality was described

by :

(A) Brownlow Commission

(B) Second Hoover Commission
(C) Masterman Commission
(D) First Hoover Commission

Who defined bureaucracy as a “state

mystifying institution” ?
(A) Jawaharlal Nehru
(B) Mao Tse-Tung

{C) Karl Marx

(D) V.1 Lenin

‘Great Technical Corps of the State’
and ‘Great Administrative Corps of
the State’ pertains to the civil
service of which one of the

following :
(A) USA
(B) UK

(C) France

(D) Japan
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42.

43.

B[R sl Ul Al deady’ i Rgid

=

S0l aelet wdi?

(A) suBndl sl

(B) Ass gaz sflaq

(C) e slun

(D) $% gar sfa-
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© sd s
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‘agladl @l s’ dlE su el

AHAER U Hisials §7
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44. Match List I with List IT and select
the correct answer by using the

codes given below the list :
List 1 List II
(@) Development Admini- (1) Dwight Waldo
stration
(b) Administrative Deve-
lopment (2) Robert Dahl
(¢) New Public Admini-
stration (3) Edward Weidner
(d) Comparative Public
Administration (4) F.W. Riggs
Codes :
@ b © @
aw @ @ @@ @
B & @ QO @
€ @ @B O @

o @ O @ 3
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{(a)

(b}

{¢)

(d)

wél-1 Yel—2
Rsiuas] adlaz o) sase awes
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RAsu @ UL S8l

At Ad adlae.

(3) MSAS
495
darildts A8
adlae (4) 2. S6IEY,
SiE]

5S :

(A)

(B)

(&)

)

@ ® @ @@

@ @ @ @

@ @ QO @&
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P.T.0.]



45.

46.

The most logical criterion to
distinguish a line function from staff
i8 :

(A) The functional relationship
(B) The authority relationship
(C) The grouping of functions
(D) The departmenfalisation

Which one of the following
committee said that Community
De'velopment Programme and
National Extension Service had

failed to evoke popular enthusiasm ?
(A) Sarkaria Committee

(B) LM. Singhvi Committee

(C) G.V.K. Rao Committee

(D) Balwantrai Mehta Committee
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45.

‘atde’ 1A ‘2218’ stddll wast drras

-

Aedl ls wugs Aa V4 sy 97
(A) stda Asig

(B) @512 qvig

(C) silq acllsam

D) [Rewslusia

A2 A4 5§ uB@A 58 3 wye Rsw

stdsy A vy R Aal disicure
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Ay w539 am

(B) a. A4, Riadl B

(C) o.dl.3. 2uq uAQA

M) sddy qedl ¥BiR



. Santhanam

47. Which one of the following was not

included by C. Rajagopalachari in

the list of six fundamental

requirements of a good

administrator ?

(A) Character

(B) Capacity to judge matters
(C) Expertise in technical matters
(D) Firmness in decision-making

Committee on
prevention of corruption was

appointed in :
(A) 1961
(B) 1962
(C) 1963

(D) 1964
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i adlag we-l o yueid 3R
. weiwandH 13 14-u w-d

il WA 4 sl sal?
(A) alkA

(B) otoidin Haaq-(l &M
(©) és-ﬂaa.wqﬁui Rysict
D) “pvjet (Falusd

ezl Rarze 22 g afk sul

Faud edl?
(A) 1961
(B) 1962
(©) 1963

(D) 1964
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49. Given below are two statements, one

labelled Assertion (A) and the other

as Reason (R) :

Assertion (A) Practical

application of unity of command is

not always possible

Reason (R) : Technical and
administrative tasks require

different kinds of supervision.

Select the correct answer from the

- codes given below :

(A) Both (A) and (B) are

individually true and (R) is

correct explanation of (A)

(B) Both (A) and

(R) are

individually true, but (R) is not

correct explanation of (A)
(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true
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50.

51.

52.

When was the Inter-State Council

set up in India ?
(A) 1987
(B) 1982
(C) 1990
(D) 1992

When were the Lok Sabha rules
amended to provide for Department
Related Parliamentary Standing

Committees ?
(A) 1988
(B) 1989
(C) 1991
(D) 1995

Which one of the following Act/
Reports created the Federal Court

in India ?

(A) Government of India Act, 1909
(B) Government of India Act, 1919
(C) Montegue-Chelmsford Report

(D) Government of India Act, 1935
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50.

al.

52.

oL dMl Midr Werd wWInedl 3L suL
aqdui 4 edl?

(A) 1987
(B) 1982
(C) 1990

(D) 1992

Qoiolt aadl Augla <l smaui
AL M2 disuedit Fasid suid gaRl
sl il edl?

(A) 1988

(B) 1989

(C) 1991

(D) 1995

eUAML SUL Sir/udald vl dse

siél R sl wudl sdl?

(A) a2 v Srolu w2, 1ok
(B) awil-e wis d-olul Ws2, 1eic
(C) ™i2oy-Awisis AW

(D) o2 i O-Slul ¥s2, 13U
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53.

64.

65.

The book Introduction to Public

Administration was authored by :
(A) W.F. Willoughby
(B) Woodrow Wilson

(C) M.P. Follett

{D) Leonard D. White

The concept of ‘Informal

Organisation’ was propounded by :
(A) F.W. Taylor

(B} Herbert Simon

(C} Elten Mayo

(D) F.M. Marx

‘Clects’ is which sub-system of Riggs’

prismatic society :

(A) Social System

(B) Administrative System
(C) Economic System

(D} Political System

Pol. Sei.-III
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55.

“Oraissud g uBas AsBHRRAA’

Yl S avy ¢d?
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(C) .. side
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56.

57.

‘Jacksonian theory’ is also called :

(A) Merit system

(B) Outsource theory

(C) Spoils system

(D) Contract system

Which of the four major issues of
public administration were debated
in the Minnowbrooke Conference,

1968 ?

(A) Relevance, value, equity and

change

(B) History, qualities, values and

development

)

Text, context, relevance, and

status

(D}

Norms, values, context and

progress
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‘ysaifFiaq Nul QA A4 s unell
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(A) Adle Alen
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58. Who said, “ successful management

involves management by

objectives” ?

(A) F.W. Taylor

(B) Peter F. Drucker
(C) Kothari Committee
(D) Edwin B. Flippo

59. In which book mentioned below, did

Robert Dahl explain the ‘theory of

decision-making’ ?

Democracy, Liberty and

Equality

(A)
(BY Democracy at Crossroads
(C) Who Governs?
(D) Modern Political Analysis

60. Which committee recommended

“unified grading structure” for the

British Civil Service ?
(A) Masterman

(B) Fulton

(C) Asheton

(D) McGraw
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61.

62.

63.

The theory of hegemonic stability
was proposed by :

(A) Stephen Krasner

(B) Robert Gilpin

(C) Immanuel Wallerstien
(D) Charles Kindleberger

Who among the following defined
war as “organized violence carried
on by political units against each
other” 7

(A) Hedley Bull
(B} Quincy Wright
(C) Raymond Aron
(D) E.H. Carr

Who articulated the “Atom for

Peace” concept ?
(A) D. Eisenhower
(B) W. Wilson
(C) J.F. Kennedy

(D) Ronald Reagan
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64. The Suez Canal cts the : . . A
¢ Puez Lanal conne 64. YU e A U4 s AL §?

(A) Atlantic Ocean and

(A) vi2dlfr2s MU -l o{HY
Mediterranean Sea ) % &4

(B) Pacific Ocean and Atlantic B) AEs Heror 1 Aeales
Ocean
HatALAR
(C) Black Sea and Mediterranean
Sea (C) S0 WY A B A

(D) Red Sea and Mediterranean

(D) dlays AR o Ay
Sea

656. What is the national assembly of 65. ®jdi-t-l dlu Heud g sdaw &7

Bhutan called ?
(A) ol

(A} Assembly

(B) sl disliog
(B) Ladoe Tashogdu

(C) Tashogdu (C) cuallag

() Lhengye Tashogdu
D) &d adisg
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66.

67.

According to many realists how is
international peace best secured ?

(A) Concession by peaceful states

to a powerful one

(B) A balance of power between

states

(C) Trying to spread democratic

values throughout the world

D)

A worldwide federation of

states

South Asian Growth Quadrangle

consists of :

(A) India, Sri Lanka, Pakistan,

Bangladesh

(B) India,. Pakistan, Afghanistan,
Sri Lanka

(C) India, Bangladesh, Nepal,

Bhutan

(D) India, Sri Lanka, Bangladesh,

Bhutan
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68.

69.

70.

Pol. Sci.~I11

Who among the following wrote  68.

the book Bananas, Beaches and
Bases : Making Feminist Sense of

International Politics ?
(A) P. Darby

(B) Weber

(C) AJ. Paolini

(D) C. Enloe

The fifth summit of BRICS was held 69.

at :

(A) New Delhi
(B) Moscow

(C) Johannesburg

{D) Durban

The term ‘economic statecraft’ was 70.

coined by :
(A) David Baldwin
(B) E.H. Carr

(C) Immanuel Wallerstein

(D) Robert Gilpin
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0 Ul GuesiHiel SIA 21 Yads avy § :
ottt (Bl 0es 61flos - RFoL 331l

A A5 Sr2eruna sy :
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AL sat?
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B) §.¥9. 513

(C) SRYyAd diarreldn

(D) Rsd BGradlq



71. Which of the following is the best  71.

conflict management approach in

practice ?

(A) Avoidance
(B) Domination
(C) Manipulation
(D) Consensus

72. Arrange the following Nuclear 79
Arms Control Treaties in ascending
chronological order with the help of

codes given below :
(1) NPT

(2) CTBT

(3) TTBT

(4) PTBT

Codes :

(A) 1, 4,3, 2

(B) 1,2, 3, 4

€ 2,3,4,1

D 4,3,21
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A WS sul [Qsey qasiaml A% dsir

uoitrt B 97
(A) [Fazs
(B) add
(C) weudl

M) udxxfa

<012 wulal sisdl Heedl 2 awt [HUAR

5UWALA Ascl 3 dMsdl :
(1)

(2) el

(3) ddeld

(4) 1deldl

P

{A) 1, 4, 3, 2

B) 1,2 3,4

C) 2,38,4,1

D) 4,3, 2,1
(P.T.0.]



73.

74.

(A)

Which US President visited China

for the first time in 1972 ?
(A.) H. Truman
(B) J.F. Kennedy

(C) R. Nixon

(D) J. Carter

Michael Doyle’s democratic peace is

based on three pillars :

Conflict management,
universal values and economic

cooperation

(B) Peaceful conflict resolution,
common values, and economic

cooperation

(C) Conflict management,
consensus on values and free

trade

(D) Conflict ‘management,

hegemony on values and

economic cooperation
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(A) Ay, 244
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75. Arrange the following treaties and 75 {14 Uglt £ 24 AAlawaAid

agreements in a chronological order A EHHL dlsal. 1A e sisHigll Gy

Select the answer from the codes N
' e s2U -
given below :
@ S-sl-yax yselluz el
(@) Indo-US Nuclear Treaty

) S-sixRae d-sdlu A4
() Indo-Soviet Friendship Treaty

(€) digse AN~
(¢) Tashkent Agreement

@ Reen 238-2
(d) Shimla Agreement

Codes £ ¢

A) (©), ®), @), (@ ' A) (@, ®), @), @)
(B) (®), (©), (@), (d) B) @), (¢), (@), ()
©) (@), @, ®), ©) (@), @), ®), ©

D ), (@), (), ®) D) «), (@), ©, ®)
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